[N of reco track vs normalized x2 ]

N of associated (recoToSim) tracks vs normalized X?

N of associated (recoToSim) looper tracks vs normalized x*

g [T g [T g ]
TS g 10k 2 g
2 ETF ] ]
F = FE < = =
[ Fo. S
[ . [ . 3
lOAE_ : 1045_ I
v
: o ) ° | ; ;
o 3 s 3 A1 : :
% @ o4 o 15f-f 45 - 3
6 18 20 v 2 4 6 8 10 12 14 16 18 20 0 12 14 16 18 2 0 4 8 10 12 14 16 18 20
track x2 track x2 track x2 track x?
[ Nof reco track vs. { ——— Hg orser
g g 2 g
o [} [}
£ 10°E £ 10k g . g
B g By Pl g
E & o
10°F 10°E =
10° 3
10°F
10?
i
o ST LT T T o mup\nuu i o
2 wi!‘::::im‘ ik i::::i::: 3 it 2
@ @ @




	Contents
	Page 1


